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PART - A (General Intelligence & Reasoning)

Q.No: 1 | Criteria to be selected as Senior Analyst - Risk and Compliance(as on 01-04-2024):
Must have a Postgraduate degree in Finance, Economics, or Risk Management with minimum 70% marks.
Should have work experience of 5-8 years, out of which minimum 3 years must be in risk/compliance domain.
Age must be between 30 and 40 years.
Must have cleared at least one international certification such as CFA, FRM, or CAMS.
Special Clause:
If the candidate has only 60-69% marks in PG, but holds 2 certifications (from CFA, FRM, CAMS), and more than 7 years of
experience, refer to Director of Risk Oversight.
If the candidate is underage by less than 6 months, refer to CEQ's desk.
Case:
Rrajat holds a PG in Economics with 67%, has 7.5 years of experience (including 3.5 years in compliance), and holds CFA and FRM
certifications. He is 29 years and 7 months old as of 01-04-2024.
Question: What should be done in Rajat’s case?

afve R=dus - S g sure (01-04-2024 9&) & ®4 d 99 #d AFEs:

fam, arefame a1 Fif@w uees & AaA 70% 3ia & 91 HidehaR ST gt Fifgy)

5-8 TuT o1 T AE g1 91ey, o/ @ 0 § &0 3 g9 Wi/ arued 84 § g1 T1igul
AR 30 F 40 ¢ & <r g =g

d’mtﬁq qu:amqu o1 HIguHLY W19 H @ hH U A=IER JauE Il gi-r =gyl

uﬁawﬂaaﬂa:d’!\—:ﬁﬁaﬁaﬁo 69% i 8, Afeh 3T e 2 vAH (o, gwemred, Higgaea 4) ok 7 9 & ofds o1 s g,
a3 sitfEs Ferm FRas @ 9ud =)

afe 3nflear 6 g T 9 39 H 8, af TEen & 2% 4 Tuh Fel

T

ToTd & U ST § 67% Siehl & Ty HTdhI<R $f {3t 8, 7.5 g6l &1 g4 (Srure # 3.5 a9 Gfgd), Siik CFa 99T FRM YATUGH &
01-04-2024 T ITht A1 29 76 3R 7 75 &1

S Toid o AT B T fohar ST anigy?

Fefer to Director of Risk Oversight]

Refer to CEQ's desk
it & S5 T Gl of
Reject the candidate
IrfieaR & SRERRE &

Select the candidate

Fuficar &1 909 &

QNo: 2 A bag has 4 fair coins (1 head 1 tail) and 4 double-headed coins. A coin is drawn and flipped 3 times all heads. Probability it's
double-headed?

T 9 7 4 Froogt e (1 79 1 02) ok 4 ehig fResh 1 oo Rieent e iman g o 38 9 9R Sorer ordn g, 9t i) =T s g1
1 G1aHI ¢ fe 9g erjgn g7

il Ll
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QNo:3 If5m=20and 7m =28, then 9m=7?
ARSm=203R7m=28 d9m=7
42

42
38
38
56
Co)

‘

Q.No: 4 Which two signs and two numbers should be interchanged in the equation given below to make the following equation correct?
10+4-5x2=19

A ey g gHieRuT &l el a1 o forg foh o1 gt i & Semna &t sro & 9o =nfgu?
10+4-5x2=19
Signs x and -, Numbers 5 and 4

g x R -, @y 5 v 4

igns - and +, Numbers 10 and

- 3R +, I 10 5
Signs = and +, Numbers 2 and 4

g x ok +, @y 2 afR 4

Signs + and -, Numbers 10 and 2

g + 3R -, 9@y 10 3k 2

Q.No:5  Find the ODD one out.
Blue, Green, Red, Smooth

4 O fawn =t ug= |

Red

et
Green

4
Blue

e

QNo:6  If + means x, + means -, - means + then, and x means + then,
whatis 150 = 25-5+ 10 + 2?

gfe+ o xg +Rrarf-g -Fraf « ¢, AR x Fraf+ ¢, A
150 % 25-5+ 10 + 2 ST 87
130

130
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125

125
135

135
140

140

Q.No: 7  In each of the following questions, two numbers are given which follow a certain logical or arithmetic relationship. |dentify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
21463 : 43685 :: 38521 : 7

frmfefed vde v & g1 9] § 78 € i gss (ffa arfdhes ar sienfordia deisr &1 urem et 1 39 fe &t uganfag sfR g wig |
T T AT e oh felg S9! JanT shifery | 6w g et 7 9§ gt faeen g
21463 : 43685 :: 38521 :7

50643

50643
67890

67890
60753

60753
60743

60743

Q.No:8 | Select from the alternatives, the box that can be formed by folding the sheet as shown in figure.

5
|

faereut & & 39 dfe &1 9o & St o # Ty arge afie &l Higea a=man o Jendi g1

= N\
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Q.No: 9 Choose the figure which is different from the rest?

dg STl g it J1ehl & 3feT 8?
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Q.No: 10 Figure A and B are related in a particular manner. Establish the same relationship between figures C and D by choosing the figure
amongst these four options which would replace the question mark in figure D .

TeRTd A 3R B & f39iw avies @ ©afea &1 39 TR faercdl A & a8 ehld THae odpfd ¢ 3flT b & di9 99 &y =fud SifSg & e
D # yaETTes g & T U S|

T
: ?
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QNo: 11 How many triangles are in the given figure?

VAVAVAN
A AT LWL

&g amepfar A feper gt 87

ININSN
INTSINTN

Q.No: 12 In each of the following guestions, two numbers are given which follow a certain logical or arithmetic relationship. Identify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
14825 : 36047 :: 27416 : 7

=t uder ust & 21 | &1 718 § St g [iga arfdhes g sispnfidiy dey o6 uraH &t 81 99 de &l ugare dhifaiy ofiz ggl
SIS & e U I e o f1g §9eh! TR Shifeiq | g 7y et # @ 98l foeey 9
14825 : 36047 :: 27416 : ?

49638

45638
39638

39638
48637

48637
38637

38637

Q.No: 13 Identify the figure that best fits in place of the question mark.

IN[ISNEK

39 JATpfe i UG i U g o T U g 3=t avg doih|

N[ISNE3K



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

01000 |0



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

QNo: 14 A man walks 12 km north, then turns right and walks 8 km, then again turns right and walks 12 km.
How far is he from the starting point?

Tk armeHt 12 ot 3ux & 81l 9w 8, iR & geae 8 ol 9erar €, fife od gsae 12 et 9erar 81
ag yeardt fig @ Rt m &2

QNo: 15  Which figure doesn't belong based on vertices?

1 df ey oftef uv amenfia adt 27
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QNo:16  Choose the next figure.
oooooez
A SMTeRfT T
oooooez

‘ I:‘..

QNo: 17 Complete the series: 3, 6, 12, 24, ?, 96
S T &Y 3, 6, 12, 24, 7, 96

Q.No: 18 Find the next term in the given series. 5C, 6D, 10F, 191, ?
&1 15 sjgen & anTel U |1 Sifegl 5¢, 6D, 10F, 191, ?
30J

30J
34K

34K
33L

33L
551

351

Q.No: 19 'In each of the following questions, a specific pattern is followed for both the letters and the numbers. Identify the set of numbers that
correctly fills the blanks in the given sequence. A, 0,0, 8,6, ___,J, 42, M, __,P, 100, s, 138, v, 182

FrfeiEa ude m o, e ot Segraefl el & oy ue fafe desd fean wan @1 few 7y o o Ream Tl ot Ot & 3 oRe arer deenal
% OHg &l uga1iYI A, 0,0, 8,6, ,J, 42, M, __,P,100,5, 138,v, 182

(15, 55)

(15, 55)
(25,73)

(25, 73)
(20, 65)

(20, 65)
(22, 68)

(22, 68)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.No: 20 In each of the following questions, a specific relationship is given between twe words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Seed : Sapling :: Fetus : ?

=TT udier W & f S1=al o ot Qeh fafSTe dae 5@ a7 81 39 2= i uga™ diferg St oy 10 g & are 99 ofef dae 9
T g1 A ey Y =R faeneut # & 9ed Suger feed 9iHg)
Seed : Sapling :: Fetus : ?

Child

gl
Adult

dUTch
Infant

fargg

QNo: 21 How many straight lines are there in the figure? (Don't consider the extra line if there is another line at 180 degrees)

amrepta & ferat Tfreft ¥aard 87 (arr 180 3 i 12 gt Y &t arfafas T R feam 7 +:9)

Q.No: 22 | If ‘Alpha’ means addition, ‘Beta’ means subtraction, 'Gamma’ means multiplication, and ‘Delta’ means division, then what is the
value of 100 Delta 5 Beta 10 Alpha 2 Gamma 37

afe AT 1 FY 1S g, ‘dier’ a1 o gerE g, T a1 3 7un 8, 3R ‘St ot 3 /I g, af 100 e 5 #fier 10 Hew 2 THT 3 @
A 1 8?
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QNo: 23 An unfolded box (cube or cuboid) appeared as shown in the figure, when sheet is folded to form a box. find the number on the face
opposite to 6.

Q.No: 24 | A shopkeeper sells a pen for Rs. 45 after giving a discount of 10%. What is the marked price of the pen?

Ueh G MGR Ueh U ! 10% &hi e &t 45 IUd & s=d1 g1 U i aifeed dima = g7

Rs. 60

60 30T
Rs. 55

55 sud
Rs. 65

65 sud
Rs, 50
50 SU|

Q.No:25  Complete the analogy: HJL : JLN 2 QSU 1 ?
TG TR s HIL : JLN 2 QsU : ?
STX

STX
SUv

SUV
L]
RSW
RSW

QNo:26 34,68, 102, 136, 170, 185 - which number doesn’t follow the series rule?
34, 68, 102, 136, 170, 185 - &I 4l T&AT @l [ATH a1 Ul el #dl &2
170

170
34

34
136

136
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Q.No: 27 | Criteria to be selected as Field Officer (as on 01-01-2024):
Graduate in Agriculture or Environmental Science with at least 65% marks.
Age between 23 and 35 years.
Must have a valid driving license.
Should have field experience of at least 2 years.
Special Clause:
If candidate has no driving license but more than 4 years of field experience, refer to Regional Head.
Case:
Shalini is 29 years old, has 68% in Environmental Science, 5 years of field work, but does not hold a driving license,
Question: What should be done in Shalini's case?

iz HifthaR & & 99 & 762 (01-01-2024 a5):

ity a1 vteroT e § 9 S &1 65% il & 9 |aw |

g 23 ¥ 3594 & =)

vy RIS AEdY giHT sawsd 2

A & A 2 TH I Thivs S g4 AMgq

fw =s:

TfE InfledR & U SIEfa asad "l 2, Afth 4 g9 @ arfds &1 Fies oy g, at &g i O dued &3

HTHAT:

anfeit 29 a9 <1 8, 39 yaiarul fa=iH & 68% oidk 8, I& 5 9 thies g foha 8, wifch 38 urg grefdn angdy =81 21
we: anfert & Aree J @ far @ fge?

Reject the candidate

Fnflcar & oRETHR e

efer to Regional Hea
THE Ed

Call for interview

aRR & forg garar

Select the candidate

Fficar &1 9099 &%

Q.No: 28 ldentify the odd image out:

Ow$ O
foum ofy & ugar:

O=& 0O

<&
&

[:][:]II

Q.No:29 Read the information carefully and identify the correct relationship between the persons mentioned in the question.
Ravi is the son of Pooja.
Pooja is the daughter-in-law of Shyam.
Shyam is the father of Karan.
Question: How is Karan related to Ravi?

& mé SR @t e ud ok us # sfeeif@a safael & ot wdt ddy ugari
M, gen RTgA B

AT, 24T & gAae g1
9T, TR0 T AT 1
UL o0, I O R v defaa &7
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T
(U]l
Uncle

1l
Grandfather

EATA 1

QNo:30  Which of the following does NOT belong to the group?

e d @ aaragg @ g & &7
WO

ich L[|
Rose

et

Jasmine

IHeA

Lotus
hHel

Q.No: 31  Criteria to be selected as Lab Assistant (as on 01-03-2024):
Must have a Diploma in Lab Technology with at least 60% marks.
Age must be 21 to 28 years.
Should have minimum 1 year practical lab experience.
Must be willing to work in night shifts.
Special Clause:
If the candidate has 70% in Diploma but only 6 months of experience, refer to Chief Lab Supervisor.
Case:
Irfan is 22 years old, has 72% in Lab Diploma, 6 months of experience, and agrees to night shifts.
Question: What should be done in Irfan’s case?

@ faee & wu A g o & Ay wes (R 01-03-2024 as):

e TeTeret | ST A 60% 3l & a1y g 91iggl

g 21 4 28 ¥ & &g g =gyl

gAqH 1 g T ATERIRE " HTHG g1 12y

A13e fAve # &1 & & oY 99 g =iyl

ICEILECEN

ofe; Iufiear & fEwier & 70% ofe €, A 3aw 6 7ER T IgYE 2, 9t T &9 guearsor & 49|
ATHAT:

M &l I 22 A1 8, A« (3T & 72% 30k 8, 6 HaiH &1 AgWd 8, 3R ag 8¢ vk & g 9844 81
HST: ST & AT A T fehar S 91igg?

efer to Chief Lab Superviso

Reject the candidate
Ficar & TR &l
Information insufficient
HAFRRT AU gl
Select the candidate

Fuftean &1 999 FE)

Q.No: 32 | In each of the following series, determine the pattern and find the missing number represented by (7). Choose the correct answer
from the given options. 120, 131, 115, 126, 110, (?)

feferaa wedes yjwaen H, e uiia Fiforg ofiw (?) g gans 78 o Hen 74 Sifergl e 1y fawedt 4 @ adt 3w g9Hy: 120, 131,
115, 126, 110, (?)
121

121
116

116
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Q.No: 33 Find the missing number in the series:2, 4, 8, 16, 7, 64

ofgel J o deE A4 hifAg: 2, 4, 8, 16, 2, 64

Q.No:34 If Figure Ais rotated to figure B then figure Cis rotated to?

Y

afe angfa A Tt amefa B H gAR SQ At smepfa ¢ T gETET Sg?

b
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Q.No: 35  Post: Junior Librarian
Eligibility Criteria (as on 01-04-2025):
Must have a Bachelor's degree in Library Science (B.Lib.5c.)
Age must be less than 32 years.
Must have minimum 1 year experience in any library.
Case:
Rinais 31, has B.Lib.Sc., and has 18 months experience in a college library.
What should be done in Rina's case?
e SR wEsRiaE
T AFES (01-04-2025 696):
ATEERT OEg (. fore. vadt.) § wraes & 3 g =g
31T 32 98 & @A g1 ATpy|
forelt ot qeaenterg & &\ 9 &\ 1 4 oAl 31 511 9111
HHAL
1 31 af Y 8, Iuh U o). G emad. g, ofR 38 Sl & Qi H 18 AglH & Ay gl
3411 & ArEet & @ foan Wi 9niee?

Reject the candidate

Fufiear it oRETER =

Information insufficient

SR AUt

Refer to Senior Librarian

Q.No: 36 Read scenario carefully, evaluate all options, identify the action that best navigates the various competing factors and values.
You are part of a volunteer committee overseeing a local community garden project that is struggling financially. A large, successful
local business offers a substantial donation that would secure the garden's operations for the next year. However, their offer comes
with the condition that they can paint their corporate logo, in bright, contrasting colors, prominently on the garden's main entrance
arch, which clashes significantly with the garden's established natural and rustic aesthetic.

Queston: Given his sitation, whic ofthe following I th most ethical and responsive acior?

uRgea &t v @ ud, wft Reaul =1 gegisa &%, iR 39 ord &t ugar & it e afoaff srel ok g0 & 99 srbt
avg & dqfera o gl

AT U W4 afafa o g & 9t U g areriie 32 URET &l $EE o (ol ¢ ol fa<id ®0 § 99y & 61 g1 U 93,
ARl T EHT Uek gyl & 2 URTeRsl TRidl ¢ ©if STl a4 & fo1q JaH o ddre =i YIS H31| gTdifeh, 3eh] UTHT 39 I
o AT AT & ok o Sru hTURe STl ahl, Tkl faudta 3t §, e & 43 vael R & 3309 U WgEdl 9 U2 o Hehd ¢, Sl 38 &
w1 Uighfden 3R 3ardt digd & ary srthl #e 181 @i

usr: 30 fRfa =t &wd gy, Ffof@a # @ &9 a1 mad Afass ofk fomer & 32

Immediately accept the donation and the logo placement, prioritizing the garden's financial survival above all else.

T 3R & @A &l gid EiaR &, Ja & o< sifiaa ot ved Sow i 2

Decline the donation entirely, citing the conflict with the garden's aesthetic and core values, even if it means potential closure.

T T Gt %8 F IR o &, Ja o Hied iR e Jedl & HTY THd 1 galel &d g4, Yol 81 SHHI Adord e &g g+ 8l
Express gratitude for the offer and attempt to negotiate alternative forms of recognition, such as a smaller, less prominent plague, or

a mention on the garden's website, explaining the importance of maintaining the garden's aesthetic integrity.

TS o iU ATYR e o 3 90T & dehfetien ¥UT U d1ddld i ol WO e, 9 foh Ueh BIE1, &0 U@ ufgen, 91 e &l
AEHIEE WR Jooid, FaH & Hied wdedl i @H1Y 3@ & A &l FH gUl
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Accept the donation and the logo placement, with the intention of secretly removing or altering the logo after a few months once the
funds are secured.

T 3R AFT T ) iR &, 39 1S ¥ [ $5o AdHl & 918 U IR 99 I 8 o U W 9 & | ot gl foar Sig ar Je [
gl

Q.No: 37 In each of the following questions, a specific relationship is given between twe words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Doctor : Diagnosis :: Judge : ?

=l Ui W & of sr=al o o Ueh fafSTe S 5 a7 81 39 25 i uga™ diferg St oy 10 g & are 99 ofef dae 9
el g1 AN oy g IR el & € 998 Juged faeu gy
Doctor : Diagnosis :: Judge : ?

Court

‘

Law
Jury

Sl

Q.No: 38 Choose the correct number to complete the analogy.

8:64::10:7
13 ol X1 e & foig Tl Tz g1
8:64::10:7

80

80
120

120
100
100
90
90

QNo:39  What will come in place of the question mark (?) in the following equation?
72+9-15+4%3=7

et gt & neamas ©g (?) & @ = a1 amgr?
72+9-15+4x3=?

Q.No: 40 Read the situation and choose the best judgment:
While enjoying a walk in a local park, you find a wallet lying en a bench. Upon opening it, you see it contains a significant amount of
cash, credit cards, and an ID card with the owner's name and address.

Queston: Given this itation, which ofth following I the most ethcaland fesponsive action?

ot =t = | o ok gat=aw Fofa g

Tehelt I OTeh § 2getd 994, TUh! Qeh o U% Ueh S¢37T UST FHddT #1 39 @ieH O%, 30 3@ & foh IUH H1h! AT | Aahdl, thise i
3T Tifetes &1 =19 3fR uar forar uas uga= ux 21

usr: 30 ffa #, FafofEa & @ &5 a1 wen Teg Afaes ofk Glerr ghm?
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Take the cash and leave the wallet with the ID and cards on the bench, hoping someone else finds it.

ehdl of il SfiR UG U dUT SIS Algd ST o IR BIS &I, 39 IiE A o i ofik I8 ur &)

Try to find the owner yourself by going to the address on the 1D, even if it's far away or seems inconvenient.

FTEST W oY 7Y Ud WX ST T4 Afeleh &l Go 1 UATE e, Wl 81 98 9gd gF ol U1 SgfauTsi-ich ol

urn the entire wallet (cash, cards, 1D) over to the nearest police station or park lost-and-found office

QR T

Use the contact information on the ID to call the owner directly and arrange a meeting to return it yourself.

IS WR &Y E Guh SRR 1 SUT Sheeh DY M § Tud oY AR 39 W a1 e o T U S 6 ee &)

Q.No:41  Address 1: Ms. Rina Dey, Flat No. 302, Block A, Sunrise Apartments, Mumbai - 400089
Address 2: Ms. Rina Dey, A-302, Sunrise Apt., Mumbai 400089
Which of the following is TRUE?

uar 1: it 1 3, wie AR 302, &l , 9RIES AU, H=8 - 400089
Tar 2: geft €41 8, §-302, 99 SOieHe, gas 400089
ffofaa § @ = a1 o 22

e

The city pin codes are different

e & fiH =i are-aran g

The apartment names differ

AMUTEHe & AT 3TeTT-alel g

The block and flat number do not match

=ATeh 37l Wi e Ad A8 @

QNo:42  NPCl is to Digital Payment as UIDAI is to...?
QRIS fEfSiee WM & ol a8l & o ganssigans & i ...7
Voter List

T =
Census

SEITOTAT
Biometric |dentity

IARE gaH

e-Commerce
ERcapr:]

QNo:43  How many triangles are there in the given figure.

. I’ \
\I_\‘: s ; -I.-- § JII 3
N A
- ’)J
& 715 el | fehaw Ay €7
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18
16

16

QNo: 44  What will be the next figure?

AO HO

00

3Tl 3fichsT =T g7

AO HO RO

*0

GET IT ON
Google Play
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QNo: 45  Which figure should replace the question mark?
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Q.No: 46  Which of the following figures will complete the figural series given below?
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Q.No: 47

Choose the figure that will be formed when the cube is unfolded.
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Q.No:48  Amazon, Nile, Ganga, Everest = which is not like the others?

ST, e, T, QaRe - 38 & i 91 371 ordT A8l g7
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Mile

‘

Ganga
T
Amazon

e NEE)

QNo:49  Which figure comes next in the series?

AY A YaA?
gl | TeAl ATl i T srgrft?

A Y AY a7

‘

Q.No:50  Choose the figure that does not belong to the group.

39 epfa &t g ot gug 9 ST gt 2

‘ oo oo o

PART - B (General Awareness)

Q.No: 51 Which of the following statements about the GO (G zero phase) phase of the cell cycle is most accurate?

HifRTeRT Teh o GO (G [T TROT) =0T & IR | ke & ¥ &5 97 dy= 994 9de 87

DNA synthesis occurs rapidly in cells presentin the GO phase.

GO =xuT § IufEd iffinraf & DNA Deetuur Ioft & giar &1

It is the phase where cell division is initiated in cancerous cells.

U a5 TRUT ¢ 9@l el ShifReR1atl J SHifRenT e o giat 1

It is a temporary quiescent stage where cells exit the cell cycle.

g Uch T FiTSehd 37T § Wil ShiT2ehIY ohiAehT Tk & J1g% Hehelc! &l

ells in GO actively prepare for DNA replication

0 ©U H DNA

QNo: 52 India’s improvement in the Rule of Law Index is most critically challenged by which factor?

fafd faw gais § YR & uR ol 994 it g foa e 9 @ 31 8?2

Slow judicial delivery

efit =i rdarg!

Legislative overreach

faremdt arfaermor
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Executive dominance

hRIRH g
Media bias

Hifsan gars

Q.No:53  Which instrument is commanly used in Carnatic classical music?
Shefceh T A AHETEE: H4HT g 91T 91 8 shiH-91 87
Dhaol

B
firdangar

HaTH]
Santoor
qR
Shehnai

AETE

Q.No: 54  What trend is reflected by increasing share of urban people in non-manual tertiary occupations?
R-2réiRes Jeftaes sgaamat # gl ol 61 Jedt e & Far v ufefaa g &2

Spatial literacy inegquality

Gendered education access

fem amenRa farem ae ugw

Emerging service economy

I TaT e

De-industrialization

fa-afferfieor

Q.No: 55 Which region has become the new epicenter of global terrorism, according to the GTI { Global Terrorism Index) 20247

Sirererg (A ATHeale QaHi®) 2024 & SJUR FiF 1 & A8 ATdeRdre & 701 &g 95 791 &7

Southeast Asia

fgror gd g2

Central Sahel region of sub-Saharan Africa

IU-GERT 3MthlehT T Hedl dide &5

Central Asia

Heg giew

Middle East and Morth Africa
e g4 3flT I 31hel

Q.No: 56 Match the following Wildlife Sanctuaries (Column A) with their respective States (Column B). Choose the option correct option:

Column A (Wildlife Sanctuary) | Column B (State)

1. Gandhi Sagar WLS a. Assam
2. Sonai Rupai WLS b. Madhya Pradesh
3. Kaimur WLS c. Telangana

4. Eturnagaram WLS d. Bihar
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Fr=fafEs a=uefta srvarodl (T A) &t 395 defda awdt (W B) @ e w@ R giag:

Y A (Faiig rMaRTg) &Y B (I94)
1. et AR gl AVERE | 5. e
zWWaﬂﬁﬁHW-umuﬁm
3. TR g AHARUG -c.?IFiTH—rlT

4. QIIRA Seild JYORW | (. fIgR
1-b, 2-a, 3-d, 4-d

1-b, 2-a, 3-d, 4—
1-a, 2-c, 3-b, 4-d

1-a, 2-c, 3-b, 4-d
1-d, 2-c, 3-a, 4-b

1-d, 2-c, 3-a, 4-b
1-c, 2-d, 3-a, 4-b

1=-c, 2-d, 3-a, 4-b

Q.No: 57 'Which high-altitude observatory in India is known for hosting an optical-infrared telescope used for space observation in Ladakh?

YR § &hi- Ol I=9-541s diel! U0l dera 5 Sialier aradie & fofg 3uahT fohy o ad Aifeashel- 3RS eoflean d @l HoraHt o folg
AT ST 7

Udaipur Solar Observatory

ISUYR R FYATT

anle Indian Astronomical Observato

Nainital Aryabhatta Observatory
ATaTer STRivE Jrame

Mount Abu Infrared Observatory

HIYE 3T 3RS JUAT]

Q.No:58  Which type of galaxy has no regular shape and is rich in gas and dust?

o UhIR Bl ATRIRATT o1 hig Fafid smeR A8l ¢ o g8 A9 3R 4o 4 995 87
Elliptical Galaxy

FEcnicardeicatiunl

Lenticular Galaxies
ifedpere STeRIRIATY

BicriCcRcIEa R
Spiral Galaxy

Tftfer ameprarim

Q.No: 59 Consider the emphasis placed on the public sectorin India's industrial development strategy between 1947 and 1990, What was a
key rationale behind giving the public sector a dominant role during this period?

1947 2R 1990 o g wRa & affeifier R Ty § gdaes 89 0r &Y 1y &R o2 59 &€ 39 9@ & ERM ardees 89 &1
THE qfHeT & & Ue Jd ok a1 12

There was a lack of demand for industrial goods in the domestic market, necessitating government intervention.

o] TR H afferifier aegant Fi ai o Ft off, [k R SRR gie @ gl Tl

Public sector industries were inherently more efficient than private sector ones.

Arawii-eh &7 o 3T el & & Jel i g1 | wWrfas ©9 3 Tel $3d 91
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The private sector had sufficient capital and technological expertise to drive industrialization in all key sectors.

Tty &=t A sffeiviieneor &t Jeran 34 & oy el 8 & u vaie ol ofit depsiien! fasiustan ot

he public sector was seen as a tool for achieving social goals, promoting balanced regional development, and controlling strategid
indystrie

Q.No: 60  In what way did fiscal discipline reforms affect center-state financial relations post-19917?
1991 & =13 ASTR YT IFFATHA URT 7 chg-3od fA=ita F=ui ot hg ganr yaifae foan?
Reduced tax sharing

A FH dedil
States had to adhere to fiscal targets

ISl &bl IMoTeh ST W&AT ol Tl AT gl

ncreased state autonomy in tax polic

T hl WAl
Centralized control over agriculture pricing

it e oo o Sdiga s

Q.No: 61  Which of the following agro-climatic and seil conditions is most suitable for the cultivation of wheat?
F=fafea § @ i O FHi-seEmy ok gar uRfRfaal 1 1 @t & g e 3ugea 82

Arid crop; temperature above 40°C; sandy loam soil

[ THOe; JTOHH 40°C O 31fde; el gime g

Subtropical crop; high humidity; laterite soil

JuTRfea T e, I AT, @ewse g

perate crop; winter temp 10-15°C, summer 21-26°C; cla

Tropical crop; 30-35°C temperature; sandy sail

Iwra et e, 30-35 el Sfctma amam,; e B

QNo: 62  According to Lenz’s Law, what determines the direction of an induced current in a conductor?

o= & i o SrgE, fohelt =mees | W uwr <t faan @ Faffa s g2

It continuously reduces the applied magnetic flux.

AE AR AN] gaeh1d HATE i &H el gl
It always enhances the existing magnetic field.

I8 T&a eme 4adi &7 F Tgmar &

It flows to oppose the variation in magnetic flux causing it.

g da<h i HaTg # uRadH o fady s & ol anfgd gidar gl

It is proportional to the strength of the magnetic field.

Ug Yy &5 &1 dlehd & FERUTE gl 81

Nemwwerd

QNo:63  What led to the decline of Timurid power in the second half of the 15th century?

158 araredl & Faie & R ey & Ud- &1 1 HIROT AT?

Economic decline due to maritime trade shifts

S AUR | Feeld & SR AT fiRmae

Internal wars due to partitioning
TS & SR AdRS g5
Rise of Uzbeks

JoTdehl <l 324
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Ottoman invasions

AT TR

Q.No: 64 Which planet has the longest day in the solar system?

Odsd § 79 Ug &1 e 9ad dar giar &7

Q.No: 65 Which of the following schemes provides annual income support to farmers directly into their bank accounts?

Frefef@a & @ @i @t gt et st d@te 33e 4 @rdl 4 arfte g gerd 9eH @)dl 87

M Fasal Bima Yojan
Tl

PM-KISAN

dign-fear

MGNREGA

weteH1 mieft AR T AR TRE AT (FE)
PM Jan Dhan Yojana

oUH S gieT

Q.No: 66 What is one of the major future impacts of ISRO's Aditya-L1 mission that studies the Sun's chromosphere and corona?

O & oMEg-ger s &1 widsy # o wia w9 g, ot 9 & SRAhR oflt RiRIFT & 100 aaT 7
Mapping of astercids beyond MNeptune

AU § UR 4[5UE! I AR

Enhanced rainfall prediction in monsoon regions

AR &1 7 Fuf & sgax ufesEm

Improved space weather forecasting to protect satellites and power systems
IonET SR faere wonferal < grer & forg Sgar siafer #am gaigae
Development of underwater navigation systems

U & 3z Afatam wonferat o e

Q.No: 67 | ldentify the dance style recognized for its spiritual devotion and connection to the Vaishnavite movement.

-dt 7 It Aot et widy ofk dwig arelem 4 g9 & g ufidg 22

Bharatnatyam

HdATRH
Kathak
ch¥<h
Odissi
et
attry3

GIEe)
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Q.No: 68 | Read the following statements about Trade Policy Reform:
Statement I: Trade policy reform in India involved removing quantitative restrictions en imports and exports.
Statement II: Trade policy reform increased import licensing to support domestic manufacturers.

R Hifd guR & 9R d =@ wuEt o ud:
HYA |: YR A AR A gurR § smard ok Fafd o #aEres uidddt o gemn e o)
e |I: =R i gur F aie Fafarsi & aaed &7 & g s srgdiEn A gig &

Both statements | and Il are correct

Y | AR ST Tl &

Both statements | and Il are incorrect

Y | AR 11 ST T B

Only Statement |l is correct

had YA || TETE

Only Statement | is correct

hadl Y | 9Bl g

QNo: 69  Which type of vehicle is commonly used in zero-emission public transport systems?

LI Hidulf-eh URagH wonierdt # dHrad: e TerR & arg- Iudin § | §rd 8?2

Diesel buses

Siomd 59

Petrol cars

Ui R

Hybrid vehicles

REEEEIEES

Q.No:70  Where was the Khelo India Youth Games 2024 held?
Ql 3far gy 1w 2024 Hgl Amaited fSan man?

Tamil Nadu

afterrg

Odisha
afiftgan

Maharashtra

HERTY

QNo: 71 Which of the following reflects the ‘what to produce’ decision in economics?

F=fofea § @ =9 a1 enfara § ‘e Seave= foan wg’ i &t gafar g7

Choosing between capital and consumer goods

Goit a7 JutaT aegaf & sitg 9a=

Increasing taxes to raise government revenue

TR AoTed F3H & g &l H gfg

eciding on distribution of outpu

'

Choosing method of production

IcreA <l fofd s =o9

Q.No: 72 Read the below statements and choose the correct option:
Statement 1: India's first initiative to track Fishing Cats through radic-collars has been introduced at Coringa Wildlife Sanctuary.
Statement 2: Fishing Cats are primarily found in coastal wetlands and mangrove ecosystems.
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I few 7y FuET &t ug SR TEt fdehey :
U 1: AH3UT-eleR & A1e0H F TR She UR A9 W@ 1 WIRd ehl Ugcll Ugd IR S-guild R0y § % & 78 &
FYUA 2: IR &he T wu 4 7d smEyfH ik duta uifefaehT o | uré ot 3

Both Statements 1 and 2 are correct

YT 1 R 2 AT AT &

Neither Statement 1 ner 2 is correct

AdiFEua 1 RAGT 2 Ogr

Only Statement 1 is correct

thad Y 1 98T &

Only Statement 2 is correct

had Y= 2 98T &

Q.No: 73 Which econemic censequence of migration is generally considered a challenge for the destination regions in India, particularly
concerning unskilled rural migrants?

UETHA 1 &I H1 ATfefes URUI 314 R 1R ¥d H Tided &1 o iy g g1 A1 et 8, a9y &0 & argerer arHion wanfagt & d@dg
#?

Increased per capita income due to the inflow of highly skilled labor

AT PAT UH & WATE & 0T Uid =@l oM ® gig

Reduction in pressure on land resources and unemployment rates

o FEreET SR SRISTIRY &2 OR gad | &t

xploitation of migrant labor and the growth of informal sector employmen
ohl 4

Balanced regional development across states

Il | gierd &t faer

Q.No: 74 Under Section 25(1) of the Bharatiya Nagarik Suraksha Sanhita, 2023, what may the Court do when a person is convicted in one trial
for multiple offences?

VIR AFTReR FRET WigaT, 2023 &1 9wy 25(1) & dgd, 79 el =it &t U g gopen & &8 amwredt & oy il sgemn sman g, at
AT T & bl &7

Can impose only one punishment for all the offences, regardless of their nature

it st & g, T8 IR Uahid &o o g1, Shad Yeh g Tl @] i o Wehdl &

Must give the harshest punishment enly and remit other punishments altogether

thddl o RaH &2 &1 I118Y JYUT 3= &3 ol U¥I d=g AIth & &A1 F11gY

Shall suspend all sentences unless directed by a higher court in the same trial

T deh 39T Heha# § = ATy g1 Fean A fegr ang, o« qe gt gursil &l Peifaa o= i smem

ay Impose punishments to run either concurrently or consecutively as appropriat

Q.No: 75  Which of the following is the central objective of Saksham Anganwadi and Poshan 2.0 scheme?

oy § ¥ 9 91 9am aimard ofr oiwo 2.0 O o1 Fidla seaa 87

trengthening early childhood care and nutrition delivery system

s

EIGEIEERIS
Food security through MSP

TATHY & AT & @Tel et

Urban health surveillance

et ey ARt

Providing skill-based employment

THITA-STTRT TSR WeM TeT

Q.No: 76 | Which of the following festivals is celebrated by the tribal communities of Nagaland and showcases traditional dance and music?
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Q.No: 77 | The power to legislate on 'Residuary Subjects’ (matters not enumerated in any of the three Lists) rests exclusively with:

"arafaw fawai (2 fawg &t dfaum & 41 giedd & anfaer 78 €) o wrga = i afe fade wu & o o gt 82
The President of India

YR & AFfd
GG
The Supreme Court

Teteg AATeg

State Legislatures

e fauraeTe

Q.No: 78 Which of the following pairs of newly created States/Union Territories after the States Reorganisation Act, 1956 is correctly matched?
T TTEA SIS, 1956 & 91e 79 M awwl/&s aniRE uea & Fefefaa ot 3 9 =5 o g ad gafea 82
Jharkhand - 2001

=RGE - 2001

Uttarakhand = 1958

IOUEsS - 1998
hhattisgarh = 2000

S | B 0

Telangana - 2001
AT - 2001

QNo: 79  Arrange the following Fundamental Rights in the order of their appearance in the Constitution:
1. Right to Freedom
2. Right to Equality
3. Right to Freedom of Religion
4. Right against Exploitation

Frafaiaa wifees ifsRT o Sy # 396 we & o § ooafelq Fifeg:
1. @d=ar &1 Afdsr
2. THAT &7 AR
3. ofifes W=l &1 Sifien
4, 29T & ooy AfdarR
1-2-3-4
1-2-3-4
-1-4-3
V-1-4-3
2-4-1-3
2-4-1-3
4-2-1-3
4-2-1-3
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Q.No: 80 Read the following and choose the correct option:
Assertion (A): sound waves travel faster in steel than in air at the same temperature.
Reason (R): The particles in solids (like steel) are mare closely packed and experience stronger intermolecular forces compared to
particles in gases (like air), allowing vibrations to be transmitted more efficiently and rapidly.

Frafafaa =t ug ok adt feen gt

TRy (A): @ a0 gaF auHE R el # IRy & g | 3118 Il § Ferdt g1

R (R): 319 vemdl (G ©ie) & o1 47 (G4 arg) & Fol &t gan J sifdes TeH gid € ofi oifdes ma siae-amuifas Sai &1 argwa
TR 8, oI e arfles SRedTgde 3R Jufl § 9aRd 81d &

Ais false but R is true.

AT g Al R TR

oth A and R are true and R is the correct explanation af A

R T R, A hl
Both A and R are true but R is not the correct explanation of A.

A 3R R <41 BT § wifehd R, A o1 Og! TETH0T Aa1 g1
Ais true but R is false.

AT g AfhT R AET B

QNo: 81  Who set up a Dayanand Anglo Vedic school in Lahore?
AER | gare Jrel dfdes whet il =IuA1 foae hi?
Lala Lajpat Rai

ofTedl eilsidd <18
Bipin Chandrapal

At dgura
Dayanand Saraswati
TS gt
Balgangadhar Tilak
TR [l

Q.No: 82 | Which of the following was a major criticism of the industrial policy followed in India during 1950-19907

fF=faf@a 5 @ =19 9t 1950-1990 & SR e ® ammemg 12 afenfias Hifa &1 o anei=ar o2
Too much emphasis on exports.
frafa w aga s ER|
Creation of a protected market leading to inefficiency and lack of innovation.

efard IR & Fmfor & srgarear ofit FaraR i at deT g

Excessive competition among domestic industries.

e SE oh s i Hfaf|
MNeglect of the public sector.

g &4 &l e

Q.No: 83 The Jog Falls in Karnataka is formed from which river?

Tfeen # BT = Jevud g T S 87

Godavari

LG

Kaveri

AHEGI
Krishna

T LT
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Q.No: 84  What kind of approach does the Happiness Index encourage in governance?

gulta §2a 2 wunret # fhd wen &l gieRiu &t Sgrar &a1 §7
Legalistic
I Sigariedn
Citizen-centric
ARe- 23 gfoeRoT
Resource-based
T Arenfia
Militaristic
Ggar!

Q.No:85  Who was the Home Minister in the first cabinet of free India?
@A T & UuA FisHe J 78 735 &t 97

Dr. Rajendra Prasad

=T, Tig IETE

Rajagopalachari

STt

Maulana Abul Kalam Azad

T g Heltd TG
EardarvallabhbhaPare!

QNo: 86  Which Indian state does S. Jaishankar represent in the Rajya Sabha?

UH, S a9 9T § fhd YR I9d & A & 87

Maharashtra

HeTY
Gujarat

HERG
Uttar Pradesh

IR TS
Tamil Nadu

dfterrg

Q.No: 87  Which act replaces the Code of Criminal Procedure, 19737

& a1 Aa €3 ufchar digan, 1973 s = dar g?
haratiya Nagark Suraksha Sanhit
TRET 4
Bharatiya Nyaya Sanhita
wed = 9igan

Mone of the above

T A FE ot Tl

Bharatiya Sakshya Adhiniyam
yRdg "iga afafms

Q.No: 88  Which of the following best describes the goal of stem cell therapy in modern medicine?

Ffefea § 3 -1 faeey sy R & €1 S Ut & I8y 1 gai«ad 9uid &ear g?

To provide genetic immunity against viruses

AT o faeg Safae Uiawetl HeM et

To prevent blood clotting in arteries

Tt § 5 & s a9 ° T
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To replace or regenerate damaged tissues or organs

SITITIE Scfeh! AT 31T Bl UfdTiia a1 gai=id el

To stimulate hormonal glands

g Ufet &t ITfe 1

QNo:89  The first known rules of Kabaddi were framed in which Indian state?
gl o HAUYH A1d e g YR T 8§ 99 g 97

Tamil Nadu

afterrg

Uttar Pradesh

R raere)
Punjab
gar"
Maharashtra

‘

Q.No:90 Match the Mahajanapada with its capital:

Column A: Mahajanapada Column B: Capital

1. Vatsa a. Kaushambi
2. Magadha b. Rajagriha

3. Kuru c. Ujjayini

4. Avanti d. Indraprastha

HETSAYE & IHh! AT | a3

HITH A: AETAAUE | ShieTH B: Juit

1.a a. T

2. 7Y b. TSR
3.3% c. Foetrat

[i-a, 2-b, 3-d, 4-d
1-b, 2-a, 3-c, 4-d
1=b, 2-a, 3-c, 4-d
1-c, 2-d, 3-a, 4-b
1-c, 2-d, 3-a, 4-b
1-d, 2-c, 3-b, 4-a
1-d, 2-c, 3-b, 4-a

Q.No: 91  Which of the following correctly pairs the initiative with its primary objective from India‘s viewpoint?

Ao § @ & o1 wRa & i & Ugd ot I8 Wgifs 3890 & a1y |gt o 9 Sigdr g?
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e s - v st e o <

BIMSTEC - Land connectivity to Europe

forad - giiu 9 yfA |9ush

QUAD - Strengthening oil diplomacy in Gulf
F13(QUAD) - @Sl # dd eI &l Feed &

IMEC - Maritime security in South China Sea

AEYHSHT - affyor I TR # T geen

QNo:92  Which feature is not commonly associated with French colonial architecture in India?

TRt Sfiufd e aRgehell & GMMIG: ®IF-81 dd g A1 aia1?

Wide verandas

i T

Tall doors and windows
& geam ofie fasfeat
Sloped tiled roofs

el aTelt T8 6 Bd

Ornate Mughal domes

T Seh & HAhRORIE T[ae

Q.No: 93 Intitally, when the 'Constitution of India' was adopted on 26th November 1949, how many Articles and Schedules did it originally
contain?

URY H, 9 26 T992 1949 & '9Rd & dfGur aro-man m o1, 9 395 59 w0 4 e argede ofk syt of?
284 Articles and 8 Schedules

284 Irf=oe S 8 eyl

395 Articles and 12 Schedules

395 =g oK 12 Aqgfar

444 prticles and 12 Schedules

444 3reehe 3R 12 ggfar

Q.No: 94 'The provision for 'Oath or Affirmation’ by members of the legislature is mentioned in which Schedule of the Indian Constitution?

a3 & el gRT 'y A1 Ufdsi' &l Wiae AR Sidyr & ea et d Sieifad 82

Second Schedule

o arggdt

Fourth Schedule

RIRIE Gl

Fifth Schedule
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Q.No: 95 | Match the columns:

Column A (Cropping Season) Column B (Major Crops - Shuffled)

A. Kharif (June-September) | 1. Vegetables, Fruits, Fodder

B. Rabi (October-March) 2. Rice, Cotton, Bajra, Maize, Jowar, Tur
C. Zaid (April-June) 3. Wheat, Gram, Rapeseeds and Mustard, Barley
Wl =1 e &Y
T A (FEH & AEH) | T B (T e - g
A TG (SA-FRdaR) 1. GfeSmi, e, IR
. .2.ij,mjﬂﬂ¥ﬂ,ﬁﬁ,m
B. 3T (rga-ATH)
C. O (JS-F) | 3, A, <, el ofik e, o
A-3, B-2, C-1
A-3, B-2, C-1
A-2,B-1,C-3
A=2, B-1,C-3
A-1,B-2,C-3
A-1, B=2, C-3
A — B_ [:_
- B_ C_

Q.No: 96 With reference to the Indian Councils Act, 1892, consider the following statements and choose the correct option:
1. It significantly increased the number of official members in the Central Legislative Council.
2. It empowered the legislative councils to discuss the budget and address questions to the executive.
3. It introduced the principle of direct election for non-official members of provincial legislative councils.

WRdg gRug sifafFam, 1892 & weei #, Feafaaa sy=i o= fer fifeig ofk adl e gihg:
1. 397 &g faur uRue A vt sew! it 9w # Jeerasia gig &

2. 59+ faum uRugl ot Iote 1R =9f 37 ofit Frdurferen & U gaa &1 fder fam

3. 39 Wi fauE gRuel & fR-TRarl Gew| & foly et 919 o1 Rigid uegd foha

1 only

Fad 1
2 only

chad 2
1 and 3 only

thad 1 R 3
2 and 3 only

had 2 R 3

QNo:97  What does 'repo rate' refer to in India's monetary policy?

HIRd <l Hifgeh Hifd 7 30T &X' (Repo Rate) <1 &1 ard g7
Rate of foreign exchange transactions
fadaft 7gr AT 2
Rate at which the government borrows from banks
gg &X oI IR GRaAR <fehl 9 IUR ol &

Rate at which consumers take loans

SUHIFATHT ZRT 0T o 6l &2
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QNo:98  What is a unique feature of the AstroSat mission operated by ISRO?

ORI g Adferd Ueg e e <t argdt fasiear =an g7
Simultaneous multi-wavelength observations
Qe ATy "g-dTe Jetich ]
Optical observations only
chael Al Adeiichd
X-ray observations only
chael Tag-1 Adel i
Single -wavelength observations
Yehel-daTee] Hawldd

Q.No: 99 | Consider the following two statements, labeled Assertion (A) and Reason (R). Evaluate them and choose the appropriate answer from
the given options.
Assertion (A): The standard distance between the penalty spot and the goal line on a football field is 11 meters.
Reason (R): This distance allows the goalkeeper a fair reaction time while challenging the accuracy and confidence of the penalty
taker.
¥y (A) R &R (R) | Rga F=afefEa 5 sy w REr w3 397 gegie o2 ok g g Reeat § @ sf@a se= g9
fAHY (A): Feare Hem W Uaee! Wie 3R e @g & df" a7 g 11 e 8
@RI (R): T% T Tieichiux ! 3 ufafenar amm &t § Siafcs U9ed! o= aTet i Teiehal 3 STcATS YT &l gHTd! gal ol

A s false, but R is true.

A I g, difchT R 9T &1
Ais true, but R is false.

AT g, AfT R 3T B
Both A and R are true, and R is the correct explanation of A.

A 3T R g Oc §, AUT R, A T TaT TR &l
Both A and R are true, but R is not the correct explanation of A.
A 3R R 4T 9 8, AfFA R, A &1 g wdtewr 741 21

Q.No: 100 Which of the following accurately describes The Seven Moons of Maali Almeida, winner of the 2022 Booker Prize?
1.The novel is set during the civil war in Sri Lanka and explores the afterlife of a photojournalist.
2.1t is a non-fictional account of archaeological excavations in the Gandhara region.
3.The author, Shehan Karunatilaka, uses satire and ghosts to comment on violence, memory, and political trauma.

Fr=fataa F @ =9 a7 2022 g9 REr At aret oeder & ara gzArsi &1 g qui= s g?
1. Ug Iu-arH Hieihl T Tegsg o GIRM chl Y8 UR MY ¢ 3R ek Gie UAERR o Ui el USdlel il gl
2. g YR & # QRId1{eh 3@ Tl Yeh TR-ehTeul-Teh gid gl
3. v, g FHwuniderd, fgan, Fi ofit aerifaes amama w fewoft &= & oy = ofik 9&T &1 Iudin &3d g
2 and 3 only
ha 2 ofR 3
1 and 3 only

thad 1 aflz 3
1and 2 only

a1 3l 2

1, 2 and 3 all are correct
1,2 dR3gdTadI g

PART - C (English Language and Comprehension)
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Q.No: 101 |In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

An astronaut must train before going to space.
P. They use a simulator to practice.

Q. Their body must get used to zero gravity.

R. They learn emergency procedures.

S. They also learn how to wear the space suit.
All this helps them prepare well.

RPSQ

PRSQ

SQRP

Q.No: 102 | Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In today's digital age, convenience often comes at the cost of privacy. Every time a user browses a website, clicks a link, or uses an
app, their data is collected—sometimes without their knowledge. Companies use this information to target ads, predict behavior, or
even sell insights to third parties. While this can lead to better services, it also raises ethical concerns. Who controls this data? How is
it stored, and can users truly opt out? Many people accept terms and conditions without reading them, unknowingly giving
permission for data tracking. Some countries have passed laws to protect user data, but implementation remains weak. As
surveillance tools grow smarter, the line between public and private becomes blurred. Individuals must now learn to balance the
benefits of technology with the right to privacy—a task that requires awareness, regulation, and responsible digital behavior.

What is the main concern raised in the passage?
Lack of internet speed

High cost of mobile data

nreats to digital privacy|

Overuse of technology

Q.No: 103 | Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In today’s digital age, convenience often comes at the cost of privacy. Every time a user browses a website, clicks a link, or uses an
app, their data is collected—sometimes without their knowledge. Companies use this information to target ads, predict behavior, or
even sell insights to third parties. While this can lead to better services, it also raises ethical concerns. Who controls this data? How is
it stored, and can users truly opt out? Many people accept terms and conditions without reading them, unknowingly giving
permission for data tracking. Some countries have passed laws to protect user data, but implementation remains weak. As
surveillance tools grow smarter, the line between public and private becomes blurred. Individuals must now learn to balance the
benefits of technology with the right to privacy—a task that requires awareness, regulation, and responsible digital behavior.

According to the passage, how is user data often collected?
Only with government approval

Through printed forms

Ithout users being fully awar:

After signing hardcopy documents
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Q.No: 104 Read the following passage carefully and answer the questions that follow by selecting the most appropriate optien from the given
alternatives.
In today's digital age, convenience often comes at the cost of privacy. Every time a user browses a website, clicks a link, or uses an
app, their data is collected—sometimes without their knowledge. Companies use this information to target ads, predict behavior, or
even sell insights to third parties. While this can lead to better services, it also raises ethical concerns. Who controls this data? How is
it stored, and can users truly opt out? Many people accept terms and conditions without reading them, unknowingly giving
permission for data tracking. Some countries have passed laws to protect user data, but implementation remains weak. As
surveillance tools grow smarter, the line between public and private becomes blurred. Individuals must now learn to balance the
benefits of technology with the right to privacy—a task that requires awareness, regulation, and responsible digital behavior.

What does the passage say about laws protecting data?
They are strong and global

They are strict in all countries

hey exist but are poorly enforce

They are unnecessary

Q.No: 105 | Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In today's digital age, convenience often comes at the cost of privacy. Every time a user browses a website, clicks a link, or uses an
app, their data is collected—sometimes without their knowledge, Companies use this information to target ads, predict behavior, or
even sell insights to third parties. While this can lead to better services, it also raises ethical concerns. Who controls this data? How is
it stored, and can users truly opt out? Many people accept terms and conditions without reading them, unknowingly giving
permission for data tracking. Some countries have passed laws to protect user data, but implementation remains weak. As
surveillance tools grow smarter, the line between public and private becomes blurred. Individuals must now learn to balance the
benefits of technology with the right to privacy—a task that requires awareness, regulation, and responsible digital behavior.

What is one positive use of user data mentioned in the passage?

Reducing screen time

mproving service experience

Blocking global access

Avoiding social media

Q.No: 106 | Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
In today's digital age, convenience often comes at the cost of privacy. Every time a user browses a website, clicks a link, or uses an
app, their data is collected—sometimes without their knowledge. Companies use this information to target ads, predict behavior, or
even sell insights to third parties. While this can lead to better services, it also raises ethical concerns. Who controls this data? How is
it stored, and can users truly opt out? Many people accept terms and conditions without reading them, unknowingly giving
permission for data tracking. Some countries have passed laws to protect user data, but implementation remains weak. As
surveillance tools grow smarter, the line between public and private becomes blurred. Individuals must now learn to balance the
benefits of technology with the right to privacy—a task that requires awareness, regulation, and responsible digital behavior.

What does the author suggest is needed to protect privacy?
Avoiding all apps

Stronger surveillance tools

wareness and responsible behavio

Free mobile phones for all
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Q.No: 107 Read the following passage carefully and answer the questions that follow by selecting the most appropriate optien from the given
alternatives.
Artificial Intelligence (Al) is gradually transforming the way students learn. From virtual tutors to personalized learning paths, Al helps
identify each learner’s strengths and weaknesses. With the help of data, Al systems can suggest specific topics where students need
improvement. Schools are also using Al chatbots to answer basic gqueries, reducing the pressure on teachers. However, experts warn
that over-dependence on Al may limit critical thinking. If students rely too much on machines for answers, they may lose problem-
solving skills. There are also concerns about data privacy, especially when student performance data is stored online. Despite these
issues, many educators believe Al can be a useful tool when used wisely. Like any technology, the key lies in balancing human
guidance with machine efficiency.

What does Al mainly help with in education?

Giving marks

ersonalizing learnin

Hiring teachers

Fixing school buildings

Q.No: 108 | Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
Artificial Intelligence (Al) is gradually transforming the way students learn. From virtual tutors to personalized learning paths, Al helps
identify each learner’s strengths and weaknesses. With the help of data, Al systems can suggest specific topics where students need
improvement. Schools are also using Al chatbots to answer basic gueries, reducing the pressure on teachers. However, experts warn
that over-dependence on Al may limit critical thinking. If students rely too much on machines for answers, they may lose problem-
solving skills. There are also concerns about data privacy, especially when student performance data is stored online. Despite these
issues, many educators believe Al can be a useful tool when used wisely. Like any technology, the key lies in balancing human
guidance with machine efficiency.

What is a possible risk of overusing AI?

Higher costs

Fewer classrooms

Better results

Q.No: 109 | Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
Artificial Intelligence (Al) is gradually transforming the way students learn. From virtual tutors to personalized learning paths, Al helps
identify each learner’s strengths and weaknesses. With the help of data, Al systems can suggest specific topics where students need
improvement. Schools are also using Al chatbots to answer basic gueries, reducing the pressure on teachers. However, experts warn
that over-dependence on Al may limit critical thinking. If students rely too much on machines for answers, they may lose problem-
solving skills. There are also concerns about data privacy, especially when student performance data is stored online. Despite these
issues, many educators believe Al can be a useful tool when used wisely. Like any technology, the key lies in balancing human
guidance with machine efficiency.

Why are Al chatbots used in schools?

To moniter cameras

To take exams

0 answer student question

To conduct interviews


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.No: 110 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Artificial Intelligence (Al) is gradually transforming the way students learn. From virtual tutors to personalized learning paths, Al helps
identify each learner’s strengths and weaknesses. With the help of data, Al systems can suggest specific topics where students need
improvement. Schools are also using Al chatbots to answer basic queries, reducing the pressure on teachers. However, experts warn
that over-dependence on Al may limit critical thinking. If students rely too much on machines for answers, they may lose problem-
solving skills. There are also concerns about data privacy, especially when student performance data is stored online. Despite these
issues, many educators believe Al can be a useful tool when used wisely. Like any technology, the key lies in balancing human
guidance with machine efficiency.

What is a concern related to student data?
Attendance drops
Internet speed
Data p Y]

Exam cheating

Q.No: 111 Read the following passage carefully and answer the questions that follow by selecting the most appropriate option from the given
alternatives.
Artificial Intelligence (Al) is gradually transforming the way students learn. From virtual tutors to personalized learning paths, Al helps
identify each learner’s strengths and weaknesses. With the help of data, Al systems can suggest specific topics where students need
improvement. Schools are also using Al chatbots to answer basic queries, reducing the pressure on teachers. However, experts warn
that over-dependence on Al may limit critical thinking. If students rely too much on machines for answers, they may lose problem-
solving skills. There are also concerns about data privacy, especially when student performance data is stored online. Despite these
issues, many educators believe Al can be a useful tool when used wisely. Like any technology, the key lies in balancing human
guidance with machine efficiency.

What is the author's final advice?
Replace teachers

Use only Al

alance tech and human inpu

Avoid all Al

Q.No: 112 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Social media has become an important part of modern life, especially among young people. It allows them to connect, share ideas,
and express themselves freely. However, this freedom also brings challenges. Many teenagers feel pressure to look perfect or appear
popular enline. They often compare their lives to others, which can affect their self-confidence. Experts suggest that it's important to

build a healthy (1) toward social media. Instead of trying to copy others, young users should focus on their real-life goals and
(2) parents and schools also have a role to play by teaching students how to use digital tools (3) Setting screen-time
limits and enceouraging outdoor activities can help restore a sense of balance. In the end, technology should be a tool for growth, not
a source of (4) By using social media wisely, young people can turn it into a space of learning, (5) and real
connection.
(1

SnE

habit

relationship

thought
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Q.No: 113 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Social media has become an important part of modern life, especially among young people. It allows them to connect, share ideas,
and express themselves freely. However, this freedom also brings challenges. Many teenagers feel pressure to look perfect or appear
popular anline. They often compare their lives to others, which can affect their self-confidence. Experts suggest that it's important to

build a healthy (1) toward social media. Instead of trying to copy others, young users should focus on their real-life goals and
(2) parents and schools also have a role to play by teaching students how to use digital tools (3) Setting screen-time
limits and encouraging outdoor activities can help restore a sense of balance. In the end, technology should be a tool for growth, not
a source of (4) By using social media wisely, young people can turn it into a space of learning, (5) and real
connection.
(2

wishes

schedules

priorities

Q.No: 114 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Social media has become an important part of modern life, especially among young people. It allows them to connect, share ideas,
and express themselves freely. However, this freedom also brings challenges. Many teenagers feel pressure to look perfect or appear
popular online. They often compare their lives to others, which can affect their self-confidence. Experts suggest that it's important to

build a healthy (1) toward social media. Instead of trying to copy others, young users should focus on their real-life goals and
(2) Parents and schools also have a role to play by teaching students how to use digital tools (3) Setting screen-time
limits and encouraging outdoor activities can help restore a sense of balance. In the end, technology should be a tool for growth, not
a source of (4) By using social media wisely, young people can turn it into a space of learning, (5) and real
connection.
(3)

widely

safely

effectively

blindly

Q.No: 115 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Social media has become an important part of modern life, especially among young people. It allows them to connect, share ideas,
and express themselves freely. However, this freedom also brings challenges. Many teenagers feel pressure to look perfect or appear
popular enline. They often compare their lives to others, which can affect their self-confidence. Experts suggest that it's important to

build a healthy (1) toward social media. Instead of trying to copy others, young users should focus on their real-life goals and
(2) parents and schools also have a role to play by teaching students how to use digital tools (3) Setting screen-time
limits and encouraging outdoor activities can help restore a sense of balance. In the end, technology should be a tool for growth, not
a source of (4) By using social media wisely, young people can turn it into a space of learning, (5) and real
connection.
(4)

fun

distraction

ciress

failure
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Q.No: 116 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
Social media has become an important part of modern life, especially among young people. It allows them to connect, share ideas,
and express themselves freely. However, this freedom also brings challenges. Many teenagers feel pressure to look perfect or appear
popular anline. They often compare their lives to others, which can affect their self-confidence. Experts suggest that it's important to

build a healthy (1) toward social media. Instead of trying to copy others, young users should focus on their real-life goals and
(2) parents and schools also have a role to play by teaching students how to use digital tools (3) Setting screen-time
limits and encouraging outdoor activities can help restore a sense of balance. In the end, technology should be a tool for growth, not
a source of (4) By using social media wisely, young people can turn it into a space of learning, (5) and real
connection.
(5)

fame

T =

fun

creativity

Q.No: 117 Find the misspelt word.
Ubiquitous

interference

interrupt

Q.No: 118 Arrange the sentence parts:
(A) water the plants (B) every morning (C) before breakfast (D) we

DCAB
DACB
DBCA

UAHCE

Q.No: 119 Select the most appropriate option to fill in the blank.
She hasn't called me ___ Monday.

for
on

at

Q.No: 120 Select the synonym of Ubiquitous.

Oomnipresent
Rare

Occasional

QNo: 121 What does the idiom ‘Clutching at straws’ mean?
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oping without reaso

Laughing loudly
Boasting unnecessarily

Winning easily

Q.No: 122 What does the idiom ‘Sit on the fence’ mean?

Remain silent
Stay neutral

Join both sides

Q.No: 123 Find the incorrect part of the sentence:
He as well as his brothers were present.

He as well as
his brothers

No error

Q.No: 124  Pick the antonym of "Yoke".

Immoral

Vicious

Liberate

Q.No: 125  Select the most appropriate option to improve the bold part of the sentence.
The fiction and non fictional book, that | borrowed, was interesting.

whom | borrowed
what | borrowed
whose | borrowed

which | borrowed

Q.No: 126  Choose the correct meaning of idiom:
'All at sea’

Far away

Excited

Drowning
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Q.No: 127  In the following guestion, a sentence has been given in Indirect Speech. Choose the correct Direct Speech form.

The astronomer noted that Jupiter's rotation was the fastest among all planets in the solar system.
The astronomer noted, “Jupiter’s rotation has been the fastest among all planets in the solar system.”
The astronomer noted, “Jupiter's rotation had been the fastest among all planets in the solar system.”

The astronomer noted, “Jupiter's rotation was the fastest among all planets in the solar system.”

he astronomer noted, " Jupiter’s rotation is the fastest among all planets in the solar system.”

Q.No: 128  Select the option that expresses the given sentence in Direct to Indirect Speech.
He said, "May God bless you."

He told that God should bless me.

He said that God may bless me.

He prayed that God might bless me.

Q.No: 129  Choose the option that completes the sentence using the correct spelling.
It is my that municipal employees handle their jobs with great professionalism.
bilief

beleif

beleaf

Q.No: 130  Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "1 was tired.”

She said that she will be tired.
She said that she was tired.

She said that she is tired.

Q.No: 131 Which word is closest in meaning to ‘Allay’?

Pacin

Clash
Moise

Dispute

Q.No: 132 Arrange the sentence parts:
(A) a scholarship (B) for higher studies (C) was awarded to (D) the topper

DABC

DACB
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DBCA

Q.No: 133 Select the option that expresses the given sentence in Direct Speech.
| told him that | was busy.

1 told himn, “You are busy."
I told him, "I was busy."

1 told him, "1 am busy."

Q.No: 134 Select the most appropriate option to fill in the blank.
The manager was dissatisfied the poor attendance.

Q.No: 135 Select the option that expresses the given sentence in Direct Speech.
She said that she liked chocolate.

She said, "1 liked chocolate.”

She said, "1 had liked chocolate.”

he said, "I like chocolate.

She said, "she likes chocolate.”

Q.No: 136 Select the option that expresses the given sentence in Direct to Indirect Speech.
They said, "Our teacher will explain the topic tomorrow."

hey said that their teacher would explain the topic the next da

They said that our teacher will explain the topic tomorrow.
They said that the teacher should explain the topic tomorrow.

They said that the teacher explained the topic the next day.

Q.No: 137 Rearrange the parts of this sentence:
(A) by adopting modern methods (B) farmers can increase (C) agricultural production (D) effectively

ABCD

BADC

BACD

Q.No: 138 Identify the part containing a grammatical or structural error:
The number of applicants have increased this year.

The number of applicants
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No error

this year

QNo: 139 What does the idiom ‘To go for a song’ mean?
Be expensive

Be unsold
Be sold cheaply]

Be sung loudly

Q.No: 140  What does the idiom ‘To bell the cat” mean?

ake a risky Initiativ

Feed a pet
Escape a problem

Make an easy move

Q.No: 141 Select the most appropriate option to improve the bold part of the sentence.
None of the option seems appropriate.

Any of the optionals
Mo optionals

Mo one of the

one of the option

Q.No: 142 Choose the one which can be substituted for the given sentence.
One who abandons one's religious faith or principles

[AD =
Heretic
Infidel

Pagan

Q.No: 143 Which sentence contains a word that is spelled incorrectly?

he children were fasinated by the glowing fireflies in the dark

She was absolutely intrigued by the magician's clever tricks.
The audience sat still, completely hypnotized by the performance.

He explained the experiment in a way that was both clear and engaging.

Q.No: 144 Select the correct active form of the given sentence:
"The preliminary results have been officially announced by the matriculation board."


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

The matriculation board has officially announcing the preliminary results.

The matriculation board has officially announced the final results.

The matriculation board will has officially announced the preliminary results.

e matriculation board has ofncially annoUNCea the prenminary results

Q.No: 145 Select the most appropriate homonym.
The police seized the counterfeit notes.

Letters
Music

Messages

Q.No: 146 Select the most appropriate homenym.
She went to the court to file a case.

Ground

Yard

Field

Q.No: 147 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

A stray dog entered the school gate. P: The children ran away in fear. Q: It started barking loudly. R: A peon chased it away. S: Some
teachers came out of the staff room. 6. Order was soon restored.

PSRQ

QSPR

PQSR

Q.No: 148 Select the most appropriate option to improve the bold part of the sentence.
She gave me many informations.

any pieces of informatio
lots of knowledge

several data

much information

Q.No: 149  Transform the fellowing sentence into active veoice:
The glass was broken.
Mo one broke the glass.

Somecne broke the glass.
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He broken the glass.

€ Droke the glass

Q.No: 150  Select the most appropriate option to improve the bold part of the sentence.
He did not knew the answer.

knows

<N oW

knowing

knews

QNo: 151 Select the synonym of Feeble.

Robust

Strong

Sturdy

Q.No: 152 | Rearrange the parts of this sentence:
(A) to improve road safety (B) stricter traffic rules (C) should be implemented (D) immediately

BCAD
CBAD

SAC L)

ABCD

Q.No: 153 Select the most appropriate option to improve the bold part of the sentence.
According to the teacher, the Earth is revolving.

spoke that the Earth is round

said that the Earth is round

told that Earth was round

Q.No: 154 Arrange the sentence parts:
{A) | have never (B) seen such (C) a huge gathering (D) before today

ACBD

ABDC

BACD

Q.No: 155  In the following guestion, a sentence has been given in Indirect Speech. Choose the correct Direct Speech form.
The explorer remarked that rarely had he seen such a breathtaking view in all his travels.

The explorer remarked, “I had rarely seen such a breathtaking view in all my travels.”
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The explorer remarked, “Rarely had | seen such a breathtaking view in all my travels.”

he explorer remarked, "I rarely saw such a breathtaking view in all my travels.

The explorer remarked, “Rarely | had seen such a breathtaking view in all my travels.”

Q.No: 156  In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence,/passage and find the most logical order of the parts between 1 and 6.

Books have always been a source of knowledge. P: They allow us to travel across time and space. Q: We learn about different cultures
and civilizations. R: Stories in books fuel our imagination. S: From science to art, books cover every field. 6. Therefore, reading must
be encouraged in youth.

Sod:
SRFQ
PRQS

PSQR

Q.No: 157  Select the most appropriate option to improve the bold part of the sentence.
He doesn’t go to shopping as often as he used to.

seldom goes at shop
.! pp ..

rarely goes to purchase

is rarely going te shop

Q.No: 158 Choose the antonym of ‘eloquent’:

NEXpressive

Articulate
Fluent

Persuasive

Q.No: 159 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

The classroom was silent. P: The teacher entered with a test sheet. Q! Everyone looked anxious. R: She distributed the papers. S: The
exam was about to begin. 6. The students began writing.

PQRS

QPSR

PSQR

Q.No: 160 Select the most appropriate option to fill in the blank.
He presides ____ all important meetings.

at
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on

with

Q.No: 161 Select the most appropriate homenym.
He was given a light punishment.

Heawvy
Dark
Serious

i1id

Q.No: 162  Rearrange the parts of this sentence:
(4) the country (B) was devastated (C) by a powerful cyclone (D) last month

BACD
ABDC

ACBD

QNo: 163 Select the synonym of Chronic.

Temporary

Fresh

Occasional

Q.No: 164  Choose the antonym of ‘prominent”:
Obscure

Renowned

Eminent

QnspIcuoU

Q.No: 165 | In the following guestion, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

The Earth is facing a serious environmental crisis. P: Forests are being cut down. Q: Oceans are filling with plastic. R: The air is
becoming toxic. S: Climate change is accelerating. 6. We must act before it's too late.

POrs
RQPS
PRQS

QPRS
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Q.No: 166 Select the correct passive form of the given sentence.
"He had lost the keys before the meeting.”

The keys had lost before the meeting.

The keys has been lost.

he keys had been lost by him before the meefin

The keys were lost by him.

Q.No: 167  Select the correct passive form of the given sentence.
"He helps the poor."

he poor are helped by him

The poor were helped by him.
The poor had been helped.

The poor have helped.

Q.No: 168 Select the option that expresses the given sentence in Direct Speech.
They said that they were enjoying the trip.

They said, "We enjoy the trip."
They said, "We were enjoying the trip."

They said, "We have enjoyed the trip."

hey said, "We are enjoying the trip.’

Q.No: 169  Select the most appropriate option to fill in the blank.
She __ to the market every morning.

qo

gone

going

QNo:170  Select the correct active form of the given sentence.
"The damaged road will be repaired by the municipality.”

The municipality will have begin repairing the damaged road.
The municipality will begining repairing the damaged road.

The municipality is begin repairing the damaged road.

ne municipality will begin repairing the damaged road

Q.No: 171 Arrange the sentence parts:
() took care of (B) her younger brother (C) while their parents (D) were away

ACBD
BACD

CBAD
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Q.No: 172 Choose the one which can be substituted for the given sentence.
Killing of one’s mother

Fratricide

Patricide

Homicide

Q.No: 173 Select the most appropriate option to fill in the blank.
She writes essays __.

neat

neatest

neat)y

neater

QNo: 174  Select the most appropriate homonym.
The current situation is tense.

Running

Electric flow

Modern

Q.No: 175  Select the correct passive form of the given sentence.
"someone could have been using this passward."”

This password could have been being used.

This password could be used.

his passwaord could have been used

This password can be being used.

Q.No: 176  Choose the correct meaning of the idiom:
“The gift of the gab™

Habit of exaggerating stories
Power to make quick decisions

Ability to cook well

alent for speaking fluently and persuasivel
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Q.No: 177 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Oceans cover more than 70% of Earth’s surface. P: Marine species are crucial for food chains. Q: But plastic waste threatens marine
life. R: Oceans regulate global temperature and climate. S: They provide food and employment to millions. 6. Ocean conservation
must be prioritized.

R5PQ
SRPQ
o

PRSQ

Q.No: 178  Select the most appropriate option to improve the bold part of the sentence.
He is enough rich to buy a car.

rich too much
sufficiently rich
too rich

Q.No: 179  Choose the correct sequence to form a meaningful sentence:
(A) the cat (B) sleeping (C) is (D) under the table

ABDC

ADBC

ADCB

Q.No: 180  Choose the one which can be substituted for the given sentence.
A place where dead bodies are kept temporarily

Dispensary
Crematorium

Graveyard

Viorgue

Q.No: 181  Select the most appropriate option to fill in the blank.

He is interested ____ learning foreign languages.
for
at
w

Q.No: 182 Transform the following sentence into active voice:

How beautifully has the picture been drawn by the artist!


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

How beautifully has the artist been drawn by the picture!

How beautifully has the artist been drew the picture!

How beautifully has the artist drew the picture!

ow beautifully has the artist drawn the picture

Q.No: 183 Select the correct active form.
"Was the novel written by her?"

Was she writing the novel?

Is she writing the novel?

Has she written the novel?

Q.No: 184  Choose the antonym of ‘deliberate”;

Calculated

Intentional

Cautious

Q.No: 185  Select the most appropriate option to fill in the blank.
She was intent ____ pursuing higher studies abroad.

an

for]

by

Q.No: 186  Select the option that expresses the given sentence in Direct to Indirect Speech.
she said, "1 must go now."

She said that she had to go then.

She said that she was going then.

he said that she must go now

She said that she will go now.

Q.No: 187 Select the correct active form.
"The temple has been visited by thousands of pilgrims."

Thousands of pilgrims were visiting the temple.

housands of pilgrims have visited the temple

Thousands of pilgrims are visiting the temple.

Thousands of pilgrims had visited the temple.
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Q.No: 188 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Rainforests are essential for biodiversity. P: Trees store carbon and release oxygen. Q: They are home to countless species. R: Yet,
deforestation threatens these ecosystems. S: Some plants even hold potential medical cures. 6. So, preserving rainforests is a global
concern.

QPSR

SRPQ

PQSR

Q.No: 189 Select the correct passive form of the given sentence.
"She may have told them the truth.”

The truth may have told to them.

he truth may have been told to them

The truth may told them.

The truth has been told.

Q.No: 190  Select the option that expresses the given sentence in Direct to Indirect Speech.
The teacher said, "Let him try on his own."

The teacher said that he should let him try on his own.
The teacher ordered him to try on his own.

The teacher suggested that he try on his own.

he teacher said that let him try on his own

QNo: 191  Select the option that expresses the given sentence in Direct Speech,
She said that she was going to the market.

She said, "I have gone to the market."

he said, "I am going to the market.
She said, "I will go to the market."

She said, "I was going to the market."

Q.No: 192 Find the incorrect part of the sentence:
She prevented me to enter the hall.

the hall
She prevented

No error

QNo: 193 What is the one-word substitution for the misappropriation of money?

Fraud
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Extortion

Bribery

QNo: 194  Which word is spelled wrongly?

Government
Calender

Permanent

Q.No: 195  Choose the part of the sentence that contains an error:
The team were playing well.

No error
were playing
The team
well

Q.No: 196  Find the incorrect part of the sentence:
The thief was hung for his crimes.

No error
The thief was

for his crimes

Q.No: 197  Choaose the correctly spelt word:

Embillish
Imbellish
Empbellish

Embelish

Q.No: 198 Which sentence contains a word that is spelled incorrectly?
His performance in the play was just mediocre.
She paid the tuition fee before the semester began.

They enjoyed a peaceful evening by the lake.

he view from the mountaintop was tramendous

Q.No: 199  Select the most appropriate option to fill in the blank.

On that pleasant autumn day, | was accompanied my daughter, Zenani.
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QNo:200  Choose the part of the sentence that contains an error:
The committee have given its decision.

ave give

No error
its decision

The committee
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